CHAPTER:-E21-II

SI No. Drawing Name Drawing Number
1 |[Single Line Diagram (GIS) ODSSP/SS/SLD/1-REV-B
2 | Single Line Diagram (AIS) ODSSP/SS/SLD/2-REV-B
3 Sub-Station Layout ODSSP/SS/1-REV-A
4 Control Room Layout ODSSP / SS /2-REV-A
5 Cable Trench ODSSP/ SS /10-REV-A
6 |4 Bolted Tension Clamp ODSSP/ SS /11-REV-A
7 | 33kV 1250 A Double Break with | ODSSP /SS /12

Double Tandem Center
Rotating Isolator with one Earth
Switch
8 | 11kV 1250 A Double Break with | ODSSP / SS /13
Double Tandem Center
Rotating Isolator with one Earth
Switch
9 | 33kV 1250 A Double Break with | ODSSP /SS /14
Double Tandem Center
Rotating Isolator without Earth
Switch
10 |11kV 1250 A Double Break with | ODSSP / SS /15

Double Tandem Center




Rotating Isolator without Earth

Switch

11 | Structural Detail of 33kV Tower | ODSSP /SS /16
Type-T8 & T9

12 | Structural Detail of Beam-G4 ODSSP /SS /17

13 | Structural Detail of Beam -G6 ODSSP /SS /18

14 | Structural Detail of 33kV Single | ODSSP /SS /19
Isolator Without Earth Switch

15 | Structural Detail of 33kV ODSSP /SS /20
Double Isolator With & Without
Earth Switch

16 | Structural Detail of 33kVCT & |ODSSP /SS /21
Pl

17 | DP Structure ODSSP/LINE/1-REV-A

18 | 11kV V Cross arm for PSC Pole | ODSSP/LINE/5-REV-A

19 | Tension Assembly for Earthwire | ODSSP /LINE/8

20 | Suspension Assembly for ODSSP /LINE/9
Earthwire

21 | PC+6 Tower Structure ODSSP /LINE/10

22 | Jointing of GI R.S Joist Pole ODSSP /LINE/11

23 | Cross Sectional View of ODSSP /LINE/12

11kV/33kV Cable
(1C/3C,Armoured Type)




24 |11 kV Line Conductor ODSSP /LINE/13
Formation & Arrangement of
Guys for 60 to 90 Angle
Location
25 |33 kV Line Conductor ODSSP /LINE/14
Formation & Arrangement of
Guys for 60 to 90 Angle
Location
26 | Danger Board ODSSP /LINE/15
27 | PC Tower Structure-Top ODSSP /LINE/16
28 | PC Tower Structure-Template ODSSP /LINE/17
29 | PC Tower Structure-Bottom ODSSP /LINE/18
30 | Foundation of PC Tower ODSSP /LINE/19
Structure
31 |Single Tension Hardware ODSSP /LINE/20
Assembly
32 | Double Tension Hardware ODSSP /LINE/21
Assembly
33 | Foundation for PSC Pole ODSSP/ CIVIL /1-REV-A
34 | Foundation for RS Joist Pole ODSSP/ CIVIL /2-REV-A
35 | Retaining Wall ODSSP/ CIVIL /6-REV-A
36 |Drain ODSSP/ CIVIL /7-REV-A
37 | Road Inside Sub-Station ODSSP/ CIVIL /11-REV-A




38 | Compound Wall for Pile ODSSP/ CIVIL /12
Foundation

39 | Compound Wall for Open ODSSP/ CIVIL /13
Foundation

40 | Culvert Drawing ODSSP/ CIVIL /14

41 | Control Room Elevation (Type- |ODSSP/ CIVIL /15
A)-2 SHEETS

42 | Control Room Design & ODSSP/ CIVIL /16
Foundation for SBC <10 MT/Sq
Mtr.-6 SHEET

43 | Control Room Design & ODSSP/ CIVIL /17

Foundation for SBC > 10 MT/Sq
Mtr.-5 SHEETS




PROPOSED SINGLE LINE DIAGRAM FOR 2X5/8 MVA,

33/11 kV GIS INDOOR S/S

(33 kV GIS INDOOR, 11 kV AIS INDOOR)

33 kV INCOMER-II
(WHERE REQUIRED)

33 kV INCOMMER-I

ta My Il DP |
I (H pole) (H pole) t_ll LA
33kV ISOLATOR &1L T
1250A/25KA for 3 Sec = = @ 33KVISOLATOR
1250A/25KA for 3 Sec
35 sg. mm
33KV |‘I : 33KV UG CABLE
DISCONNECTOR "= = DISCONNECTO!
630 A
33kv [NDOOR GIS ocasr orcaEr f§ 630 A 100 mtr,
33kv CT 9q
METER METER 4 33kvV CT
400-200/1-1-1 A N 400-200/1-1-1 A
VT SPARE SPARE
33kV VCB 630A/25kA
for 3 Sec E 33kV VCB 630A/25kA
PROTECTION ~ METERING for 3 Sec
333 kV/ 110/¥3/ 1103V ON DP
_ &> 9 4
33kV BUS 33KV AB
33kV VCB 33kV VCB L) S(\)lgIAT/ggkA
630A/25KA for 3 Sec DIFFRENTIAL 630A/25KA for 3 Sec DIFFRENTIAL for 3 Sec
33kV cT PROTECTION 33kV CT PROTECTION
400-200/1-1-1A METER 400-200/1-1-1A METER S FUSE
orc & orc e
EIF EIF
BV e 3KV T—u—lll LA
DISCONNECTOR __rL DISCONNECTOR
630A = 630 A= 100KkVA,33 kV/0.433 K
STN. TRF
LA
5/ 8 MVA
POWER TRF <
= NCT
LAl LA 39 or
DIFFRENTIAL : DIFFRENTIAL INDOOR 11kV
11kv CT PROTECTION 11KV CT | PROTECTION
IvT  400-200/1-1-1A METER 400-200/1-1-1A ¥ MeTER
orc& orc & T
l' PROTECTION METERIN: EF 11kVv EF PROTECTION METERING
3383 kv/ 110/ 13/ 110/ BUS COUPLER
3V 11KV VCB o0 11KV VCB 3313 kv/ 110/¥3/ 110MBY
o X 11kV BUS
11kV VCB 11kv VCB 11kv vCB 11kv VCB
630A/25kA 630A/25 kA 630A/25kA 630A/25kA
for 3 Sec for 3 Sec for 3 Sec for 3 Sec
11KV CT OIC&EF  11kV CT OIC&EIF  OIC&EIF 11kV CT  OC&EF 11KV CT
400-200/ 7]) METER  400-200/ ) METER  METER 400-200/  METER 400-200/
1-1-1 A SPARE 1-1-1 A SPARE SPARE 1-1-1A SPARE 1-1-1 A

11kV ISOLATOR 11kV ISOLATOR

11kV ISOLATOR

1250A/25kA 1250A/25kA 1250A/25kA
for 3 Sec —é— for 3 Sec = for 3 Sec
Al or Al DP I LA

11kV FEEDER | 11kV FEEDER II 11kV FEEDER llI

MAJOR CHANGES:-
1.CT-RATIO HAS CHANGED BY SHOWING THREE CORE SYSTEM.

11kV ISOLATOR
1250A/25kA
—é— — for 3 Sec
DP DP LA

11kV FEEDER IV

[DRAWING NO - ODSSP/ SS/ SLD/1-REV-B




PROPOSED SINGLE LINE DIAGRAM FOR 2X3.15/ 5/ 8 MVA, 33/11 kV AIS INDOOR S/S
(33 kV AIS INDOOR, 11 kV AIS INDOOR)

33 kV INCOMER-II

33 kV INCOMMER-|

MAJOR CHANGES:-

1.CT-RATIO HAS CHANGED BY SHOWING THREE CORE SYSTEM.

A 1] DP DP I
(H pole) (H pole) II LA
33kV ISOLATOR L
1250A/25KkA for 3 Sec = 33 kVISOLATOR
1250A/25KA for 3 Sec
35 sq. mm
UG CABLE
A orcaEer oIC & EIF :
33KV INDOPR AIS 33kv CT 2% P swer
400-200/1-1-1 A P METER VETER Y 400-200/1-1-1 A
SPARE SPARE
VT
33kV VCB 630A/25kA E g E 33KV VCB 630A/25kA
for 3 Sec for 3 Sec
PROTECTION METERING ON DP
33/¥3 kv/ 110/43/ 110/{3v o
33kV AB
33KV BUS @/ swiTCH
33KV VCB 33kvves 5 200A/25KA
630A/25KA for 3 Sec 630A/25KA for 3 Sec for 3 Sec
S FUSE
DIFFRENTIAL DIFFRENTIAL [
PROTECTION = PROTECTION
|—h | LA
33kV CT METER 33kV CT 2% METER el
400-200/1-1-1A oce 400-200/1-1-1A oce
EIF EIF
00kVA,33/0.433 kV
STN. TRF
LA LA I e—Pop
3.15/ 5/ 8 MVA 3.15/ 5/ 8 MVA
POWER TRF = neT POWER TRF = NCT
Al L
DIFFRENTIAL 1) orFFRenTIAL
11kV CT PROTECTION 11kV CT 2% PROTECTION INDOOR 11kv
400-200/1-1-1A METER 400-200/1-1-1A W werer
VT VT
oIC& oIc&
EIF EIF
r PROTECTI}N METERING 11kv PROTECTION METERING
L1/43 kV/ 110/ 43 v-110/ BUS COUPLER _
Lk 11KV VCB o 11vves B 11/43 kv/ 110/ ¥3v- 11083V
54 - 11kV BUS
- |ZN|
11kV VCB 11kv VCB 1t 11kV VCB ' 11kV VCB
630A/25kA 630A/25 kA 630A/25 kA 630A/25 kA
for 3 Sec for 3 Sec for 3 Sec for 3 Sec
| Y
11kv CT oceer 11kV CT OC&EF  OC&ER 11kv CT O/C & EIF 11KV CT
400-200/ vmeTer  400-200/ METER METER 400-200/ METER 400-200/
1-1-1 A SPARE 1-1-1 A : SPARE SPARE 1-1-1 A SPARE HEEEP
n ]
11kV ISOLATOR 11kV ISOLATOR 11kV ISOLATOR 11kV ISOLATOR
1250A/25kA p— L1250AI25kA g, /—9 1250A/25kA 1250A/25kA
for 3 Sec for 3 Sec : :I=- —é: for 3 Sec —E/ y for3Sec
n n
L}
LAt op LAl ® op DP I LA P Pyl LA
1
i i
11kV FEEDER | 11kV FEEDER II 11kV FEEDER IlI 11kV FEEDER IV

[DRAWING NO - ODSSP/ SS/ SLD/ 2-REV-B




EINL]

EINL]

A-CHARGER ROOM

B-ACDB ROOM

C-RTCC 1 ROOM & RTCC 2 ROOM

D-RTU ROOM

1.Road inside switchyard area is minimised to 5M.
2.Size of Rooms inside Control Room is adjusted.

INCOMING- NCOMING-1
" \ 4 5.%.“ \ 4 | \ 4 5.*“ \ 4 |
“D 3000
o
o
LASH B
A o B = op UsING 1s0x10
G RaoIST
o
8 CABLE TRENCH % 100KVA,
0 2ot s
\0
z W 811 kY W
z 1 TRF-4, A —
w o
" E [ S [ 33/11 kv
—L 2 = RS SERVICE
3 5 @ PORTICO
° eXoXol | I SO | KeXoXe)
3MX4M
oI -
SUMP
pIT flatx = 3 secu
RITY
3 2Mx2M
CABLE TRENCH 8 ) i
n
a
_1  ROAD i
o
o — — — —
o Ire]
o
D
™ | 17000 4
N DOOR
oFFICE ROOM
T 2xam
I
N JsTore RoOM|  §
i Is
Z INCOMR-1 = 2X3M 4
< e i
- | - z8 «
o YL |28 < >
8 il > CONTROL ROOM CUM o 15
o Eo TRF-II | % SWITCHGEAR BUILDING A.1.S  CUSTOMER | Sy
— w3 INCOMR-11 | ® Tcare oFricy 2 2
gg 4X3M uo
S = wr + £32
o 11kY(PANEL 3 g
720 13
= 9s
TR 8 oo [ i]ee ] 83 (2000
Toxasu T
HENENREEERE .
T T
11 11
TOWARDS 11kV PANEL 8
o CABLE TRENCH 8
o
N :1 2000 3000 3000
N .
7
N = & 50 50 10
NOTE:- MAJOR CHANGES:-

22000

36000

12000

6800

5000

10000

5500

INCOMING-2 NCOMING-1
\ 5.%] Y | Y %ﬂ \

DP USING 150X150
.1 ReoIsT
us
o
2000 CABLE TRENCH § 100KvA,
33/0.4kV
STATION
H TRF- —
Z —— S ——
[ [CXOXO) < [CXOXO) 33/11 kv
1 e
= 4 REL 8 SERVICE
=
g B ® PORTICO
Q o 1.6MX1.pMX2M Q o _ 3MX4M
oIL
SUMP
PIT [iscrx u] SECU
RITY
) 2MX2M
@
CABLE TRENCH 8 = |72
o =
3 m
a
1 ROAD \
o
(=3 - - -
Tp]
17000
Y
J DOOR
8
gggjm 1500 S OFFICE ROOM
RoOw [~ 15T T Beooo F oxau
+H 1600 900 1200 1200 T
. qsTore RooM| &
z 1090 2250 2X3M z
o 1 x
53| L B < ¥
Z | 4 INCOMR-I > >
& of Re1 ] e CONTROL ROOM CUM w A7
[ S [ SWITCHGEAR BUILDING G.1.S | CUSTOMER | Sy
I TRE-IL| @ B CARE OFFIcH 2 @
2 g INCOMR-11 9 4X3M uo
R == T + 22
9 17\% PANEL T ez
2]
- Q >
=17 =1=13 8 |uooa s | rorer 63
AN K AN E ToILeT
clelzlelolilx|x|e]| @ Taasufzaswp NO
o o -+ -
HEEENEEREE 2000
T T
| 1
TOWARDS 11kV PANEL 8
CABLE TRENCH I

FEEDER-;

IS0

FEEDER--

:ﬂﬂm@m 3000 3000
A s A <o A A
%p R,J =i

150

SUB-STATION LAYOUT(GIS)

3.Service Varendah cum Staircase,Cable tranch showing layout,Service Portico,Baffel Wall,Oil Sump Pit are incorporated
4.0verall Switchyard area is maximize as per our Scope i.e 36 M x 22 M

DRG NO .- ODSSP / SS / 1-REV-A




DOOR DOOR
S 3
RooM | 1500 = OFFICE ROOM o 1500 S |oFFIcE ROOM
XM | A [B]c [ D Beooo + 2xam Aoy | A [B]c [P Beooo + 2x3M
H—2850 7 1600 900 1200 1200 T o f— 1600 900 1200 1200 -
<
100 JSTORE ROOM[. Q@ 1STORE ROOM| 3
INCOMR-1_| 2xam T 2 1000  pps50 2X3M z
zZ o g 04
TRF-I | < 8 N W S
L | INCOMR-I
> CONTROL ROOM CUM w =2F] 1 o [ CONTROL ROOM CUM u
TRF-IT | % SWITCHGEAR BUILDING A.1.S | CUSTOMER| 2w S [ SWITCHGEAR BUILDING G.I.S{ CUSTOMER | 2w
INCOMR-11 | © TCARE OFFICH & 2 TRE-I | & TCARE OFFICH & %
Y - iy
4X3M N & || INCOMR-I1 4AX3M o
VT 4 = = 1 2=
11k\|PANEL + E s T KV PANEL + E s
7200 g 7200 5 n
-1 o o 4OOQ oFfICE | '('g % = - e %}) 40O OFFICE £ %
J J ] ] J J o TOILET o O =) 1 J ] ] 1 TOILET | TOILET o O
El{ES ||| |&E[&E || @ T 2xasm|2x1sMT O |- x|IEfo|E|& = T 2xa.5 m[2x15 MT
[n [a — -+ -+ — -+ -+
N NERENNE SRR EREREE
N N I I

A-CHARGER , B-ACDB, C-RTCC 1 & RTCC 2, D-RTU

CONTROL ROOM CUM SWITCHGEAR BUILDING (AIS & GI1S)

DRG NO .- ODSSP / SS/ 2-REV-A




- CABLE TRENCH

et}
250 L0 o
000J0O0 doocood] /5 MM RCC
300
3 5 CABLE TRAY
75
500

/K 300 R Y

CABLE TRAY ,
)I k 680

392 225
200 | | 200 Y

P OO O SO Ty R

\4 \4

| v vAR vk 728 v vAI v vl vl vAR VA VA v VAR VAl v/ B vaR valvA LI UNMES

—- 2000 -

= 2400 -
— 2600 -

NOTE: - CABLE TRAY MENTION ABOVE SHOULD BE LADDER TYPE.
DRG NO .- ODSSP / SS / 10-REV-A




g
&

4 BOLTED TENSION CLAMP

980

ZN

—25

.
1
Z
15‘

Changes:
Adding 1 no. of Disc Insulator for 33kV Sub-Station.

d
N

EEE‘E%
HQ

182

6
14(9*&)
160

.
N

DRG NO .- ODSSP / SS/11-REV-A




1 I 2 I 3 I 4 I 5 I 6 7 I 8

PART LIST
1 FIXED CONTACT ASSEMBLY
2 MOVING CONTACT ASSEMBLY
3 INSULATOR STACK

iy i 4 TANDEM PIPE (40mm Gl PIPE)

B 5

6
7
8

B

ROTATING STOOL POST
ELEVATOR CHANNEL

BASE CHANNEL (100x50)

DOWN PIPE (50mm Gl PIPE)

Fl \ 9 OPERATING MECHANISM BOX(MOTOR)
TOP OPERATING MECHANISM

E/S FIXED CONTACT

12 E/S MOVING CONTACT

13 E/S TANDEM PIPE (40mm Gl PIPE)
14 E/S AUX. TANDEM PIPE

15 E/S TOP OPERATING MECH.

16 E/S DOWN PIPE (50mm Gl PIPE)

17 E/S OPERATING MECHANISM (MANUAL)
LINK MECHANISM (M/S&E/S)

19 COPPER BRAIDED FLEXIBLE

M12(4%) AT 76PCD|

1500
M12(4%) AT 76PCD)

1500

==

S08
3
3T
u?e?) ®
758
23

=

I

4000
-
(-]
W s dma s A WUa 22 UDUND GO

1712

2942

TECHNICAL PARTICULARS

Rated Voltage 33 kv
Highest System Voltage 36 KV
Rated continous current 1250 A
Rated Short Time Current for 3Sec 25 KA
Rated Peak Withstand Current 62.5 KA
a)Lighting Impulse withstand Voltage 170 Kvp
b)Across Isolating Distance 195 Kvp
S a)Dry power Frequency withstand voltage 70 KV
o b)Across Isolating Distance 80 KV
Phase to Phase Spacing 1500 mm
Maximum Operating Altitude above MSL 1000 M
Governing Standard 1S:9921
Min. Creepage distance 900mm

1230

crowo LoeL 7

300

@l

NOTES

All Dimentions are in mm

All Ferrous Parts are in Hot Dip Galvanized

All non Ferrous Contact Points are Silver Plated

The main Rotating Post has Two Nos of Bearings

All Gl Pipes are 'B’ Class as per IS:1239
Manufacturing Tolerance to be as per IS

) Up to 50mm—-— 3% i) 51 to 100mm—— +2%
iii) 101 to 300mm—-+1% iv) Above 300mm—— +0.5%
7. Weight of Metallics — 305kgs (Approx.)

1065

[ o -

18x36_Slot_holes, 508

Ll S

BASE CHANNEL MOUNTING DETAILS

DRG. NO- ODSSP/SS/12

33kV 1250 ADOUBLE BREAK WITH DOUBLE TANDEM PIPE
CENTER ROTATING ISOLATOR WITH ONE EARTH SWITCH

1 T 2 T 3 T + T 5 T s T 7 T 8




1 I 2 I 3 I 4 I 5 I 6 7 I 8

135

PART LIST

FIXED CONTACT ASSEMBLY
MOVING CONTACT ASSEMBLY
INSULATOR STACK

TANDEM PIPE (40mm Gl PIPE)
ROTATING STOOL POST
ELEVATOR CHANNEL

915 915

M12(4*) AT 76PCD|

254

BASE CHANNEL (100x50)
DOWN PIPE (50mm GI PIPE)
OPERATING MECHANISM BOX (MANUAL)

© 0N EWN =

115

10 TOP OPERATING MECHANISM
E/S FIXED CONTACT

}EI

1
/UTE
&4

-

2216

12 E/S MOVING CONTACT

13 E/S TANDEM PIPE (40mm Gl PIPE)

14 E/S AUX. TANDEM PIPE

15 E/S TOP OPERATING MECH.

16 E/S DOWN PIPE (50mm Gl PIPE)

17 E/S OPERATING MECHANISM BOX (MANUAL)
18 LINK MECHANISM (M/SXE/S)

19 COPPER BRAIDED FLEXIBLE

I T PR T T O R E

1080

TECHNICAL PARTICULARS
Rated Voltage 11 KV
Highest System Voltage 12 KV
Rated continous current 1250 A

200

Rated Short Time Current for 3Sec 25 KA
Rated Peak Withstand Current 62.5 KA
a)Lighting Impulse withstand Voltage 75 Kvp
b)Across Isolating Distance 85 Kvp
a)Dry power Frequency withstand voltage 28 kv
b)Across Isolating Distance 32 KV
f 905 905 Phase to Phase Spacing 915 mm
Maximum Operating Altitude above MSL 1000 M
Governing Standard 1S:9921
Min. Creepage distance 450 mm

890

18x36 Slot_holes, 457

NOTES

890

1. All Dimentions are in mm

2. All Ferrous Parts are in Hot Dip Galvanized

3. All non Ferrous Contact Points are Silver Plated
4. The main Rotating Post has Two Nos of Bearings
5.

6.

. All Gl Pipes are ‘B’ Class as per 1S:1239
. Manufacturing Tolerance to be as per IS
i) Up to 50mm—— 3% i) 51 to 100mm—— +2%
i) 101 to 300mm-——+1% iv) Above 300mm—— +0.5%
7. Weight of Metallics — 190kgs (Approx.)

DRG. NO— ODSSP/SS/13

11kV 1250 ADOUBLE BREAK WITH DOUBLE TANDEM PIPE
CENTER ROTATING ISOLATOR WITH ONE EARTH SWITCH

EARTHING PAD

1 T 2 T 3 T + T 5 T s T 7 T 8




1 | 2 | 3 4 5 | 6 | 7 | 8
PART LIST QoIY.
1 FIXED CONTACT ASSEMBLY 8
piie
T e - 2 MOVING CONTACT ASSEMBLY 3
== 3 INSULATOR STACK 9
M12(4*) AT 76PCD m 4 TANDEM PIPE (40mm Gl PIPE) 2
5 ROTATING STOOL POST 3
° \ 1500 Al 1500 @ [ 6 ELEVATOR CHANNEL 6
ol |
® [M12(4*) AT 76PCD) J | I 7 BASE CHANNEL (100x50) 3
8 DOWN PIPE (50mm Gl PIPE) 1
o 1 *_ 9 OPERATING MECHANISM BOX (MOTOR) 1
} L 10 TOP OPERATING MECHANISM 1
8 I
i : ]
|
100 Q
I| 1 @ \ ! \ g
nol I H I
o L 225 | " | TECHNICAL PARTICULARS
S \ \ \
Il | ‘ | Rated Valtage 33 KV
| | | ‘ | m Highest System Voltage 36 KV
‘ | | | | 5 Rated continous current 1250 A
! | | L | Rated Short Time Current for 3Sec 25 KA
| | = | Rated Peak Withstand Current 62.5 KA
| | ‘ | a)Lighting Impulse withstand Voltage 170 Kvp
° | | @—'_. | | b)Across Isolating Distance 195 Kvp
g | ‘ | a)Dry power Frequency withstand voltage 70 KV
} | | b)Across Isolating Distance 80 KV
Phase to Phase Spacing 1500 mm
PLINTH LEVEL
L ‘ 1 W Maximum Operating Altitude above MSL 1000 M
o W & GROUND LEVEL m GROUND LEVEL N o Governing Standard 1S:9921
® 8 Min. Creepage distance 900mm
ELEVATION END VIEW
875
NOTES
1. All Dimentions are in mm
| f} - 2. All Ferrous Parts are in Hot Dip Galvanized
s08 3. All non Ferrous Contact Points are Silver Plated
§ 2 § 18x36 Slot_holes, 4. The main Rotating Post has Two Nos of Bearings
- 5. All Gl Pipes are 'B' Class as per 1S:1239
BASE CHANNEL MOUNTING DETAILLS 6. Manufacturing Tolerance to be as per IS

i) Up to 50mm—-— +3% i) 51 to 100mm—— +2%
iii) 101 to 300mm——+1% iv) Above 300mm—— +0.5%
7. Weight of Metallics — 225kgs (Approx.)

DRG. NO— ODSSP/SS/14

33kV 1250 ADOUBLE BREAK WITH DOUBLE TANDEM PIPE
CENTER ROTATING ISOLATOR WITHOUT EARTH SWITCH

T 7 T 8




133,

254

915

915

1S

2216

M12(4*) AT 76PCD|

[M12(4%) AT 76PCD|

1080

,,,,,,, ul

M12x45 BOLTS(*2)

EARTHING PAD

200

890

3296

4000

890

200

453*

18x36_Slot holes,

457

PART LIST QTY.
1 FIXED CONTACT ASSEMBLY 6
2 MOVING CONTACT ASSEMBLY 3
3 INSULATOR STACK 9
4 TANDEM PIPE (40mm Gl PIPE) 2
5 ROTATING STOOL POST 3
6 ELEVATOR CHANNEL 6
7 BASE CHANNEL (100x50) 3
8 DOWN PIPE (50mm Gl PIPE) 1
9 OPERATING MECHANISM BOX (MANUAL) 1
10 TOP OPERATING MECHANISM 1
TJECHNICAL PARTICULARS
Rated Voltage 11 KV
Highest System Voltage 12 KV
Rated continous current 1250 A
Rated Short Time Current for 3Sec 25 KA
Rated Peak Withstand Current 62.5 KA
a)Lighting Impulse withstand Voltage 75 Kvp
b)Across Isolating Distance 85 Kvp
a)Dry power Frequency withstand voltage 28 KV
b)Across Isolating Distance 32 KV
Phase to Phase Spacing 915 mm
Maximum Operating Altitude above MSL 1000 M
Governing Standard 1S:9921
Min. Creepage distance 450 mm

NOTES

All Dimentions are in mm

S ;prwN

All Ferrous Parts are in Hot Dip Galvanized

All non Ferrous Contact Points are Silver Plated
The main Rotating Post has Two Nos of Bearings
All Gl Pipes are ‘B’ Class as per IS:1239

Manufacturing Tolerance to be as per IS

i) Up to 50mm—— 3% i) 51 to 100mm—— +2%
iii) 101 to 300mm——zx1% iv) Above 300mm—— +0.5%

7. Weight of Metallics — 170kgs (Approx.)

DRG. NO- ODSSP/SS/15

11kV 1250 ADOUBLE BREAK WITH DOUBLE TANDEM PIPE
CENTER ROTATING ISOLATOR WITHOUT EARTH SWITCH

7 T




9900

FOR TOWER T—6

410

2000

1500

t'_é;

£—1 3dAL ¥IMOL SV INVS.

3000

B

FOR TOWER T-9

8400
261

5400

5400

STRUCTURAL DETAIL OF 33kV TOWER TYPE T8 & T9

TOWER TYPE "T—8" AS DRAWN 10500 HEIGHT WITH PEAK.
TOWER IYPE T—8"AS DRAWN 5500 HEIGHT WIIH QUT PEAK

DRG NO-ODSSP/SS/16




COF TOVER

1250 150 1500 1250
1 580 s qmo | w5 55
TRESE HOLES REMD
l ] LY FIR G4
ESANN /z N
I \ // ® |
ok S
| \ || PR Gax
DNLY \ Y i X
I - e : || -
_l — —
L4SX45X5X969 LG LESXESXEXT70 LG/
® TOP PLAN
1250 1500 1500 1250
LSS LASKASKSXI065S LG LESX65X6X4660 LG

\ |
|

: e AN\ .«
- = ==
C
LESXE5X6X4660 LG LIOXSOXXT70 LG L45X45X5(Xf32 LG
©@e o © ®
ELEVATION

GIRDER ‘G4’ WITH BOTH SIDE STRAIN PLATE AND SUSPENSION INSULATOR CONNECTION

‘G4’ SAME AS ‘G4' EXCEPT ISOLATOR CONNECTION OF TOP

716 716

667

555

5300

PLAN A-A

STRUCTURAL DETAIL OF BEAM TYPE G-4

COF TOVER
AL L1,

DRG NO-ODSSP/SS/17




1500

595 875 875
Krrete®
ZOF TOWER ' -
— g
(e
3

L65X65X6X770 Lé

N
-1
L45X45X5X969 LG 18X36 LG SLOT HOLES

__ TOPPLAN

L45X45X5X935.5 LG /

7250

3000

1500 1500 1250

L45X45X5X1179 LG .

L45X45X5X1023.5 L

L65X65X6X6410 LG

L50X50X5X770 LG @

G L45X45X5X1065.5 LG

2> I

§

ﬂ%

B | A Al
Al 7 yol |
L65X65X6X6410 LG L45X45X5X1032 LG 23111%
® (E] -
ELEVATION
GIRDER TYPE G-6
3000 1500 1500 1250

Q@
Pe

L45X45X5X1026 LG

L50X50X5X770 LG

STRUCTURAL DETAIL OF BEAM TYPE G-6

DRG NO-ODSSP/SS/18

CLOF TOWER




3201

25 1220 . 1220 75,
sMc [100xs0 (8
E = = = ¢ = =
al | |
5 | ON BOTTOM FLANGE OF CHANNELS
§ni — — — — - H— {—
2 8| &)
o
|
ISMC [100X50
TOP PLAN
452
N.S FS
% ISMC _[100 X 50 h
T T3 EI M |
L | L | r—— T+ 1 IE = 11_| @ [,
o W I 3 -1 1-17] T
2141 | I ! |
44 | 44 N 2, | [
HN\_ H ; Rt
q | I
| N 7,
I I \ Lsoxboxs / I | | [
\ 1413 \ (]
N 7, |
1-13 T -1 2 ® —
| (8 [5] 11 1-13"
7, N ® |
@ N ©] 2 / \ o 6 |®
© (]
2 d 3 X | N.S 2 \ |ﬁ
g & g 7 N ®Fs > I
4 1|8 N g &1
g 5 sG) | | 5 I|_.
\ F.s(@) [ |
7, N A\
|
1-137] T 5| i 3l oY 1 |
o 1-13" B e E3 1-13°
\ 44
44
\ ‘ \ [ / \ |
| | | 7 | | [
\ N 7 |
L50X50X5 |
200 [105 ARty \ |
11200 l105 g N A
+=H L |
1-1 =
J H— 1 —e—1 CLT LSOXSOXS WELDED TO CHANNELS H 1—1*'
. - (1/4" FILLET WELD) ﬁ.l. “1
PIRE K4 VST g = 7 A -
I; L 14 gJ- ||-1 / | \
— + & A f / \ I
1_1i.|' IKE) Perd1-14" “1
[\-4-11/6" DA OPEN HOLES |
N Z, | N
I | | I l
H—r— . . N
3-131H FH 314 314 3-1% "
D ¥ —e CLT_L100X100X8 CLT L100X100X8
I EQ | @:/ ; CONCRETE LEVEL i E2h L] CONCRETE LEVEL Il ALdm
T L100x106%8 8 |©) 1780 B. TO B. OF LS @ 8 L2LT 100x100%8
452 | GROUND LEVEL "_I GROUND LEVEL "J 452
8. 70 B. OF LS B.TO B. OF LS
SIDE VIEW
SIDE VIEW ELEVATION
8—1"DIA. OPEN HOLES FOR 20 MM DIA.
ANCHOR BOLTSX600 MM LONG
% REF. —R/SS/6 @
of O @
d g,
§ e
2 % @
)
@ ﬁnﬂ ca. 0 T
LCLT 100X100x8 (1) hall
1780
153.2 1585.6 153.2
SETTING PLAN OF ANCHOR BOLTS

STRUCTURAL DETAIL OF 33kV SINGLE ISOLATOR WITHOUT EARTH SWITCH

DRG NO-ODSSP/SS/19




14 9 9 14
28 sy — 1220 1220
©
4_13- 1 ALY

117

®
L100x100x8 3151LG

2625(ABT)

3275
>
slle
G

E .
‘”l 1130x130x12 | — 1§ V 3
i’é—ii'@ i
CQNCRETE LEVEL
QROUND LEVEL B |
L)
795 795
L50x50x6 81

FRONT ELEVATION
(143

L90x90x8 1464LG
1220 1220

L90x90x8 1464LG
poxIxD TARRS

9NOS. SLOTTED
HOLES 18x36 FOR FIXING |
ISOLAR ON N.S. ONLY

SNOS_ISMC100x50x2640 LONG

PLAN

STRUCTURAL DETAIL OF 33kV DOUBLE ISOLATOR WITH &

WITHOUT EARTH SWITCH

682

1291.5

iﬂo.

1371.5

C100x50x1296 LG

2625(ABT.)

LS0x50x6 81LG

A—1f" crooxs0x1298 L5
d— ([

kd
1]
/ | GROUND LEVEL |
od [ 70
27010 THK PL 310 LG

WELDED WITH C100X50
N.S. ONLY FOR STR. TYPE-S6&S5

SIDE VIEW

1364HEEL TC HEEL

BASE PLAN

1590HEEL TO HEEL

DRG NO-ODSSP/SS/20




- PL_400X12 400LG.

400
350

SECTION-=Y Y

=<
=
<—|
!

L100X100X10

=%
L100X100X10 L100X100X10
8
H ——
S
e Tle off=Te
AE  d EIE @
® (3]
38
HE I
X X S X X
2 tﬂ_‘ v y

400

i
I

it

= - PL _400X12_400LG.
1 @

76 MM_P.C.D.
4—-M16 BOLT

SECTION=Y Y

Y
v R

556

557

557

557

<™
557

3340

L100X100X10X200LG.
+__+ a
HOLES FOR 20¢ BOLTS

o
o G+ — 1 1=
Le]

PL400X12 400LG.

SECTION—=XX

STRUCTURAL DETAIL OF 33kV CT & PI

L100X100X10X200LG.
2

HOLES FOR 20¢ BOLTS

SECTION—=XX

PL400X12 400LG.

DRG NO-ODSSP/SS/21




DP STRUCTURE FOR 33/11 kv{(JOIST)

A
C
B B
25 b L 2X6BAS}IZ_PIATED — . |_lisonoLe
50 ] N100X50XS mm G —=-65X6 BASE PLATE
65X6 BASEPLATE | CHANNEL 2no.s FOR | T—2ne.s HOLE (18mm}
EACHDZP.
e _H
150X150 GI JOIST G 165 |
F | A[B|C[D]E[F |G
10 TO | 4200 2560 600 240
60 850 1250
S
K
9: N>2no.s HOLE (18mmy})
~
§ CHANGES:
N o BERTHING HOLE 1.DP STRUCTURE'S ONLY FOR ANGLE
g (189) DEVIATION 10-60
[
4 2no.s HOLE(18G)
— IN EACH BASE CLIT
/ aassoriosTeon) ||
e = DRG NO .- ODSSP / LINE / 1-REV-A

WASHER




11 KV V-CROSS ARMS WITH TOP BRACKET & BACK CLAMP FOR PSC POLE
100x50x5 ,9.56 kg / Mtr. CHANNEL

/220 HOLE
mH:)LE ’l 100x50x6 ,9.56 kg / Mtr. CHANNEL |Tp !
— 70
| BOTTOM LINE OF X-ARM
Pt 183 HOLE N\ L‘?‘:ﬁ? OF LOAD(KG)| A | B | C | D | FROM TOPOF THE POLE
50X50X6 PLATE /310 50X50X6 PLATE o IN mm
TO BE WELDED LOT TO BE WELDED 1
0060 mm 276 | 111 | 362 | 1170
rowdl 10000 mux 300 216
) -
l—‘B—J
535 535 HOLES 45ex625%5 HOLES
1070 CHANNEL
ELEVATION
%5 3%
/ 100X50X6 mm
mall [* = i diza N iy OR _WELDED/V iy
N~ 410 N 410
\sémsms/ \mxm/
/4’ ANGLE /4’ FLAT
CLAMP 75 X10G.. FLAT / 150 s; !
PSC POLE 188 HOLESZ [ ¥ 50 188 HOLESZ [ * Y
\ /"5“‘j X55BOLT ELEVATION  END VIEW ELEVATION ~ END VIEW
10 ROSS ARM POLE TOP BRACKET POLE TOP BRACKET
L Y )
] L1 LI
L~ ~ 3, 75 X061 FLAT
10G. 1.
4] ¢ %7 y,n"%
B V8@ HOLE OLE ™
BACK CLAMP
BACK CLAMPS & CROSS ARM ASSEMBLY
MAJOR CHANGES:-

DRG NO .- ODASSP / LINE / 5-REV-A
1. ANGLE 70X70X6 IS REPLACED BY 100X50X6




3 | 2 | 1

180 HOLE

190

|

120 HOLE
%

500 G.I. PIPE
/

e e e e e e e e e e e C e e e e e o

8T

.

EARTHING DEVICE
HEAVY GAUGE (TATA/GINDL)

50mm DIA G.I. PIPE
WELDED
50X6 G.I. FLAT

NOTE:-
1.50 mm DIA GI PIPE FOR S/S

2.40 mm DIA GI PIPE FOR LINE

DRG NO .- ODASSP/ LINE / 6-REV-A




94
,}h_

TENSION ASSEMBLY FOR EART WIRE

/6

22

76

260

gty )

@

127 BEFORE COMP.

_@ 15.1

—

M12 BOLT AND NUT

(

— = ————
— = — —

N/

WITH WASHERS

SL.| DESCRIPTION MATERIAL CAT NO. [ Qry.
1. |CLAMP FOGED STEEL GALVANISED 1
2.| JUMPER FORGED STEEL GALVANISED | MGSS 1
3.[BOLTS WITH NUTS,M12 | GALVANISED STEEL 10 3
7. FTAT WASHER MT12Z GALVANISED STEEL 3
5.| SPRING WASHER.M1Z | SPRING SIEEL ELECTRO GALV 3
6. | ANCHOR SHACKIF FORGED STFEl GAIVANISED 2
7./ BOLTS WITH NUTS.M16 | GALVANISED STEEL MGSS 2
8. FLAT WASHER,M16 GALVANISED STEEL 10 2
9.[SPLT_PIN STAINLESS STEEL/BRASS 2

M12 bolt and nut AFTER COMP.

with washers

NOTES:—

GENERAL TOLERANCE 2% UNLESS OTHERWISE
SPECIFIED.APPLICABLE STANDARD IS: 2486 PART—I|

FERROUS PART IS HOT DIP GALVANISED AS PER IS:2629 SLIP
STRENGTH 95 OF UTS OF EARTH WIRE MINIUM BREAKING
STRENGTH 7000 KG SPRING WASHER ARE ELECTRO GALVANISED
FLAT WASHER ARE HOT DIP GALVANISED SUITABLE FOR
EARTHWIRE 7/3.15 MM.

Drg No-ODSSP/LINE/8




SUSPENSION ASSEMBLE FOR EARTHWIRE

86

54

i

(e

L]
4
146
L.[ DESCRIPTION MATERIAL CAT NO. | QY.
1.[CLAMP & KEEPER MALLEABLE CAST IRON GALVANISED 1
2.[U BOLT WITH NUTS ,M12| GALVANISED STEEL 1
3.[J BOLT WITH NUTS ,M12 | GALVANISED STEEL 1 NOTES: —
4.] FLAT WASHER M12 GALVANISED STEEL 1 GENERAL TOLERANCE £2% UNLESS OTHERWISE SPECIFIED.APPLICABLE
5. SPRING WASHER,M12 SPRING STEEL ELECTRO GALV B—11 4 STANDARD IS: 2486 PART—I
6.1 FYF _HOOK FORGFD STFFL_GAIVANISFD 6 FERROUS PART IS HOT DIP GALVANISED AS PER IS:2629 MINIUM
7. BOLTS WITH NUTS,M16 GALVANISED STEEL 1 BREAKING STRENGTH 7000 KG SPRING WASHER ARE ELECTRO
8. FLAT WASHER,M16 GALVANISED STEEL 1 GALVANISED FLAT WASHER ARE HOT DIP GALVANISED SUITABLE FOR
9. SPLIT PIN STAINLESS STEEL/BRASS S—4 1 EARTHWIRE 7/3.15 MM.

Drg No-ODSSP/LINE/9




w1 % - I [

07/3nn Jds30 < oN Ba




___Flange ffontview N1S

| -~ ——————_ Web front view
| RS e & i3
i - T R e el e SRR R -—
i 5 ——
j 45 by TG
ST I 2 ,.__@_______ R L
Y N e ) 7 9 312
mmmm VO LU AN T A
I = (J/ | il 45
RO PEN 1 1 7
=ribent o A ) N 1 e @ ................ i 45
@

30 30 3011 {30
‘ i [
|

WA, BN 5, )
Length of Flange plate- 2*(3+2*30+5*45)=576mm*12mm
Length of Web plate - 2*(3+52+3*45+30)= 440mm*12mm

JL- Joint line _ o
CJogn{E’r\a 0f OT Res Jodst Ps&)

Dthovoo&SP/ LINE [13



CONDUCTOR
CONDUCTOR

CONDUCTOR SCREENING
CONDUCTOR SCREENING

&t/ % INSULATION MATERIAL

INSULATION MATERIAL
INSULATION SCREENING

INNER SHEATH Y7 R A [fae)
i ; INNER SHEATH

esoasss
........

INSULATION SCREENING

ARMOURING
OUTER SHEATH

ARMOURING
OUTER SHEATH

PVC FILLERS

CROSS-SECTIONAL VIEW OF 11kV/33KV CROSS-SECTIONAL VIEW OF
1C, ARMOURED CABLE 11kV/33KkV 3C, ARMOURED CABLE

Drg No.-ODSSP/LINE/12




NOTE -

I|.REFER REC CONSTRUCTION STANDARD
A-22 FOR TYPE OF POLE TO 8E USED.

l 2.THE DRAWING INDICATES THE POSITION OF
M GUY CLAMP ON THE POLE. THE OIRECTION

OF GUY WIRE SHALL BE SUCH AS TO COUNT-
ELEVATION ERACT THE RESULTANT TENSIONS OF THE
CONDUCTORS,

3. GUY ANGLE SMALL BE 30° TO 45°

(MK\/ Léne Conductos Fosmation A’:sfmna;zmea;
of O;u*ﬂ-e, £o1 6d to 90° CU\GAG O’\DCfbf-‘?fJi‘\,)

I | ')fuaot\lo—oossp/LlNEjig






